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1. (a) &8 99 TR FoE TR Sigea o | 1

Using &-§, write the definition of limit.

(b) Rifvgrer s forar, 3t
lim f(x);é llm f(x) 1

x—a=0

Write the type of discontinuity, if
lim f(x) # lm‘:-of(x)

x—a-0
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WYqr/ Or

iy ™! ¥
\\1‘\{ y= “ﬂ un .\’ JAUTAY Cq-{ez] A

ﬂ—xnl!huz —Rn+1) xyp .y —(n2 +-a2)yn =0

Ify=e® Si“-"", then show that

0-x)Yp,2 -Rn+1)xy, ., -(n% +a?)y, =0

(e) W f(x y)=xcosy+ye*, =@ ST &

Fxyl6 Y) = fyxlx Y) 2

If f(x, y)=xcosy+ye*, then show that
Fxy(6 Y) = fyelx y)

(N 3 u=log(x3+y3+z3—3xyz), o

s
§y§ +a_u +@. = —3 4
0x dy 0z x+y+z
Ifu=1 3 syl 423 -
og(x” +y” +z° =3xyz), then show
that
u, du du__ 3
dx dy 9z x+y+z
24P/494 ( Continued )

If u Esin'1£+ta.n_1 E, then show that
Yy x

X—+y—=0
ox yay

3. (@ %:If(ﬂ I (xp, yy) R = @sa
| 1

Write the equation of tangent to the
curve y = f(x) at the point (x;, ;).

(b) xy =4 NANFITG! AT TET© 4971 391 | 1
Express the equation xy=4 in polar

coordinate.
(€) y=x3-2x%-x+5 3% (0, 5) e =rf
QA Terea | 3

Find the equation of the tarigent to the
curve y=x3 -2x2%-x+5 at ©, 5).

Y91/ Or
x? + xy-y? =135 (2 3) e b1 wfea
S Sferer |

Find the equation of the normal to the
curve x2 +xy-y® =1 at (2 3).
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d x*+y*=23IF (L1 e Iwor IPe

4. (a)

(b)

(c)
24P/494

=T =1

Find the radius of curvature of the curve
x* +QL =2 at the point (1, 1).

&<l / Or

r =a(l —cosb) TRMEIZTER [ @ & (r, 0)°
J&eR P (9 10 1

Find the radius of curvature at any point
(r, 8) of the cardioid r = a(l —cos8).

f<efe )_m“m.m ke o

Define inflection point.

Toge] aAmfee SRR foeT |

Write the parametric equation of ellipse.
x=2t-3 |F y=6t-7 4w AR o7
q <41 |

Draw the graph of parametric equations
x=2t-3 and y=6t-7.

¥<1/ Or
x? +(y-3)?% =9 FFWH £ TFRS 24T
IR o7 S 91

Express the equation x? +(y-3)2 =9 in
polar coordinates and sketch the graph.

( Continued )

(d)

(e)

S. (a)

(b)

(c)

6. (a)

24P/494

(7)

y=x"-4x3 + 1R f53 i 01 w% st

R =M= 3ft, foare an

Draw the graph of y=x* -4x3 +10 and

identify the inflection point, if any.
<1/ Or

T a1 99 e e 10

Find the asymptotes of the following
curve :

x3 +wkmm|u@m lm.Qw +u@|mw -1=0

r=1+cos6 3G9 G HFH 41 |
Trace the curve r =1+cos6.

QT SAHICO fordl e 21 <1 |
State and prove Rolle’s theorem.

3
Zﬁnxﬂuux TR [-3, 3] SIS ([@FH

TAAMICOl SToTo $47 |

Verify Rolle’s theorem for the function
3

f(x) uxﬂlmx in the interval [-3, 3].

GG TYRET Soremicor fer |

Write the Lagrange’s mean value
theorem.

F’H7 TP WPRT OIS (BFRT SRl
fer=m

State Taylor's theorem with Cauchy’s
form of remainder.
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